3.4 Inverse Functions - cont.
3.5 Graphs of Square Roots & Cube Roots
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Einding_Inverses /3 g 1) switch the x's and y's
2) Solve for y

ex: Find the invefse, if possible. 3) Replace y with the
inverse notation




ex: Find the inverse, if possible. Jj X +3 :&: W*‘{fg’
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W FE
(G )

$~b+%

M“\ﬁ



ex: Find the inverse, if possible. U =X+ 2
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ex: Find the inverse, if possible.

d) h(x)=x"-5x+1

Not possible; h(x) fails the horizontal line test



ex: Given

m g(x)=Vvx-=5  h(x)=x’+x,x=2 —%

Find the indicated value.
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ex: Given

£(v)-

x+4




ex: Given

f(x)=x+4 g(_‘-)=\/_;_5

Find the indicated value.
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ex: Given

h(x)=x>+x, xz-—




ex: Given



ex: Given

f(x)=x+4 g(x)=\/;—5 h(x)=x*+x, .rz-%

Find the indicated value.

D (forf")( r)



REVIEW

ex: Sketch and state the domain and range in interval
notation. \erex (3/— l)
y=—2(x—3)2—l X __‘23
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Square Root Graphs

Parent Function: f(x) =/x

Graph:

Domain: Range:



ex: Sketch and state the domain and range in interval
notation.

Key point: ( |, ~[) >< \ W
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ex: Sketch and state the domain and range in interval
notation.
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ex: Sketch and state the domain and range in interval
notation.

Q) y=—-vx-3+5 % '\,\r\> )i_{_‘b
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ex: Sketch and state the domain and range in interval

notation. H65
d) y=2-+l-x
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ex: Sketch and state the domain and range in interval
notation.

e) y=+3x+1-4



Cube Root Graphs

::Ql

Parent Function: f(x)

Domain: Range:



ex: Sketch and state the domain and range in interval

notation.

fy y=Jx-4+5
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ex: Sketch and state the domain and range in interval
notation.

Qy=3x+3-4



ex: Sketch and state the domain and range in interval
notation. i, Gl e
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REVIEW

ex: Are f(x) and g(x) inverse functions? Justify your answer
algebraically.

f(x)=32x+2 g(x)='x——l



REVIEW

ex: Simplify.

{’/l 28x°y"7’



REVIEW

ex: Sketch the inverse function, if it exists.

(1, 0)
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